
not a global challenge

Does not address the
topic. Growing aging
population is rise in the
number of older people
that only happens
when overall population
rate and fertility rate decline
and literacy in female 
increases. These + a
good health care system
leads to growing aging
 populatin
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heading and growing aging
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Not the one facing the challenge of growing aging population
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 Category Total marks Obtained marks 

 
Content 

Qualitative analysis 10 0 

Quantitative analysis 10 0 

Validity & Reliability 10 0 

Relevance 10 0 

 
Language 

Sentence structure 5 1 

Vocabulary 5 1 

Clarity 5 0 

Command of language 5 1 

Expression 5 0 

 
Structure 

Outline 5 0 

Introduction 5 1 

Body paragraphs 5 1 

Conclusion 5 1 

Coherence Cohesion  5 1 

Coherence 10 1 

Total 8 

 


